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Pos| I~¥F5> M4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total | &% Pos| I~¥F5> M4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total | &%
1 (B 12 12 20 12 20 76 64 1 |SEEN 20 10 20 20 70 70
2 |EEEBKM 20 8 6 20 54 54 2 [EKImE 8 8 15 12 43 43
3 |fE 5hEA 15 15 15 6 51 51 3 |kei 10 20 10 40 40
4 |lCL 15 20 10 45 45 4 | LHEH 15 15 8 38 38
5 |FEk—8 6 6 12 15 39 39 5 |miya 20 20 20
6 [NK 10 12 22 22 6 |[1o/veEEF 12 8 20 20
7 MR T 10 8 18 18 7 |&kE E 6 12 18 18
8 |<n 10 10 10 8 |iBEREK 6 10 16 16
9 [5< 10 10 10 9 |BF W 15 15 15
10 |LITFZD 8 8 8 10 |2l =h 15 15 15
11 (2~ 8 8 8 11 [LADT T 12 12 12
13 |hrd— 8 8 8 12 [L&ELU 12 12 12
14 [F=EUZ3=- 6 6 6 13 |84 BA 10 10 10
12 0 0 14 |IIFEE 8 8 8
FrL2ZD~CARTISR 15 |#ER 6 6
Pos | I>h5>bh4#&| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total | &% 16 AR &— 6 6 6
1 |&B5FA 15 12 15 20 62 62 IR BUSX
2 |FrSh 12 15 8 10 45 45 Pos | T>h5>bh4#&| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total | &%
3 [Dk> 8 8 15 12 43 43 1 |ERICS 20 20 20 12 72 72
4 R 12 8 12 32 32 2 |lEFSD 15 10 15 12 10 62 52
5 |B5 6 10 15 31 31 3 |/NEEX 20 15 15 50 50
6 | AAMEE 20 6 26 26 4 |RRBME— 10 15 6 10 41 41
7 |[WEDSSA 10 6 6 22 22 5 |PAER 8 12 12 8 40 40
8 |Za—FF 20 20 20 6 |BEHEE 8 10 6 24 24
9 |Uao 20 20 20 7 [RIEDA 20 20 20
10 |Z2VErA 20 20 20 8 |KEHE 12 12 12
11 |[PABYPA 10 8 18 18 9 |MuAtL 8 8 8
12 [KAtdm=E 10 10 10 10 [=F & 8 8 8
FrL OS5 11 |BEREFAOA 6 6 6
Pos | T>h5>bh4#&| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total | &% 12 |- 6 6 6
1 |[EZ2RE 15 20 20 10 65 65 TIFX=hH
2 |[FTILY 20 12 8 10 50 50 Pos | I>h5>bh4#&| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total | &%
3 [&Dhw 8 15 12 15 50 50 1 (@1 10 15 20 15 60 60
4 |kcE 10 6 6 12 34 34 2 BB 20 20 10 50 50
5 |taka 12 15 27 27 3 |[Uzxo& 20 12 12 44 44
6 |SHR 10 12 22 22 4 |EREH 15 15 30 30
7 (BB 20 20 20 5 [72D%6 20 20 20
8 [ —EA 20 20 20 6 [PPENSE 12 6 18 18
9 [M~<A 10 6 16 16 7 |eOo> 6 12 18 18
10 |[<3D 15 15 15 8 |HGE®DE 8 10 18 18
11 |hidiEsR 8 8 8 9 |fEEE M 8 8 16 16
12 |32 JRY 8 8 8 10 |[UOTHESBPA 15 15 15
13 [UL/OUX 8 8 8 11 (o1v 10 10 10
14 (3D 6 6 6 12 [AAVR 8 8 8
15 |&EiEs 6 6 6 13 |fREEX 6 6 6
K-CARZJISXR 14 [BRE 6 6 6
Pos| I~¥F5> M4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total | &% 15 0 0
1 |12vD 15 15 20 20 70 70
2 |K 12 20 20 10 62 62
3 [P & 20 10 15 8 53 53
4 |[C~> 10 6 8 15 39 39
5 |aqu 10 10 12 32 32
6 |PEHA 6 12 8 26 26
7 |1—>2 8 12 20 20
8 [=E5_=3 15 15 15
9 |IEEY— 6 6 12 12
10 [BAZED 12 12 12
11 |\ 8 8 8
12 [252A 6 6 6




